Esercizi di riepilogo

3 Polinomi 381

| Esercizi proposti

B Espressioni

emplificare le seguenti espressioni.

9.

(x = 3y)(x +3y)(x* + 9y?) — 9(x* — 9y*).
(@+b)(a—b)—a(a—2b).
P+ Ne+NpP-1)-pP-1)+(1-p)P*+p+1).

(2x = 3y)(2x + 3y) + (5x +y)(y — 5%) — (2x +y)(x — 8y).
(x=1)(x+3) ~ (X2 4206 +3)5.

Y2 +3) =3y - 1) - - 1)(y* +1).
(5x +y)- (Bx —y) — (4x + 5y) - (4x — 5y) —
O +y2) - (x+y) -y =x) = (0 =y?) - (% + %) + (X +y°) - (2x = 3y).
B +x2+x+1)(1-x); 2+ (x® —1)2,

Py -3y x —y);
(@+b)-(a—b)—(a—b)
@+b) +(@a-b)%

(2a + 3)° — 6[(2a — 3)? + 4a(2a + 3)].
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28y2.

2(a—b)® - (@+b) —2 - (a+b)?
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— 3x%y + 3xy? — y3; xy]

]

-(@—b). ]
]

[~8x4]
[2ab — b?] @
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[—23x2 + 15xy]

(X2 4+ 8x + 10]

[4]

[Ox% —
[—3x%y +2xy° -y

[1—x* x* +2x2 + 1

[2ab — 2b2

[2a°+2b?; 4b%—4a’b

[8a® 36a + 54a - 27

2 2
[%+(—Z—a—%) +$—2 ]-(1+2a2—a)— [(a+%> -2—%] (222 +a—1). [8a® — 8a%]
@+1)(@-1)-(a*+a2+1). [a® — 1]
(X +y)- 03 =y®) - (0 —xy +y?) —x® +y~. o]
2
() (-9 (o)) b
(a-b)®+3(@—-b)’(a+b)+3(@@-b)a+b)’+(a+b)’. [8a°]
( a2 — b?) - (a2 +b2) +2b-(a+b)- (a2 —ab+b?) —(a+b)®-(a—b). [2a%b + 2a2b?)
2

(X+y) (x % —xy+(x +y> =y ix+2y) ( +y><i—y> (0]
(Bx+1) +(4x+3)2—2(5x+3). [25x2 + 20x + 4]
203 +y3+28 —3xyz) — (x+ ¥} — (¥ +2° - (x+2° + 3y +2) (X + 2) (X + ¥). 0]
a* +4(a—b)* —6(a—2b)* +4(a—3b)* — (a—4b)* +24b*. [2a*)
8a2 — (2 —a%) - (2+a2) + (582 +2) - (1 — 7a2) + 9a2(2a + 1)(2a — 1) — 6. [2a% — 8]
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Esercizi

1., 161 2.

X+ (@ + 3y)% — (%x + % y>2 + (2% —3y)% = 3Tx 5 [0]
1 ] b 1 & PR
15 + [(ga— 1) —Zaz} (1 +af = [az - (E—a> —Z} (a+2> [6a°
Yt - (%x2 +y‘°'>3 - (%x2 —y2>3 4—%x2 (%x2 +y2) : (%xz —y2> +Jégx2y4. [—x2y*
282 +-8(a— 1P +dla= 1P+ (@@ =da+2* =@ =1). [3a2
b® + (3a — 4b)® + (4a — 3b)® + 252ab(a — b) + 90(b® — ad). a3
8a® + (8b+2a)-(8b—2a) + (3a—b) - (3a+b) —2(b—a)(@a+b). [10a? + 6b°
[(x+2)% — (x —2)® — 4(3x2 - 1)] 11—0 2
{[(a —2b)(a+2b) + 3a?] %}(a2 4 B%) = @2 (R = BP) ~ BPleP = bP). 0
X+y+2° - (C+y2+2°) -3 +y) - (x+2) - (v +2). 0

X=y)2+ (X+y+z+8)2+ (x—2)% + (x =%+ (y=2)% + (y =)+ (z—t)2.  [4x®+4y? +42% + 4

(@ +2a®+2a+1)-(@®—-2a°+2a—1). [a® - 1
x(x2 — 10xy 4 5y2)? + y(5x2 — 10xy + y2)? — (x +y)°. 0
1 2 1 2
<?x+3y> - (Ex— 2y) : [5xy + By
latb+of —bto—af—la—b+6® —fa+b—cP [24abc
exyz+ (X +y)P+y+2)° +x+2° - x+y+2)> K2 +y2 4+ 2°
7ab(a+b)(@® +ab + b?)? — (a+b). [-a” — b7
X+2)+x+y+2° = (P +y2+2%) -8 +y)(y +2)(x +2). X + 2

1+4®+(@+1)% - @-12-(@2+1)% (@a+b)® +&°+b%+3abla+b) — (a+b)°.

@+1)(@+2)-(3-a)4—a)+26+a@—23)-(@a+4) (@a+3) -
—2(@-1)(5+a)-(@a+1)-(a—5) — 36a. [—14a

522 — (a+1)-(@+2) (@a+3)+(@+1)@+2)+a+4(2a+1).

(@+b+c)+@-b2+(@-c)®+((b-c)®-3b?+c?) - 342

@—1)@+1)—(b?+3)-(4—b)+[(@+b—3)— (2b+a2 —4)7 [ —k%—12
=18 =18 —x[(x = 1)%: (x=1)° = (x = 13 +1] - [(x = 1) (x + 1)] +x°. 2 —x+ 1
(X = 3y)(x + 3y) (x* + 9y?) — 9(x* — 9y*). | [—8x*
(@a+b)(@a—b)—a(a-2b). [2ab — b?

P2+ NP+ PE-1)-pPPE-1)+(1-p)P*+p+1). 0




